N @k 9.5 The Distawce Formvla i,@
9. Warn Up

<
The Pythagpreay Coverse 3;5 v

S

Solve for the Missivg, side of the triaxle.
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If c is the length of the longest side of a triangle and... D
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In the diagram below, use the

Pythagorean Theorem to find the How can we find the distance between
distance between A and B as well as
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Distawce Formula Practice

Find the distance between the two points:

1. (2 6)and (5, 10) 2. (4,-8)and(-1,-3
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Want a challenge?
3. If the distance between (-2, y,) and (6,8) is 445, find the missing y value.
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4, If the point (x, 4) is equidistant from the points (-2, -3) and (6, 1), find x.
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